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Guess Paper – 2011
Class – X
 Subject –  Mathematics
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SECTION-A

1. If a , (a-2) , and 3a are in AP, then find the value of a?

2. If the equation ax2 + bx + c = 0 has equal roots, then find the value of c.

3. In the given figure , triangle ABC is circumscribed touching the circle at P,Q,R. if AP=4cm,BP=6cm,AC=12cm and BC=x cm. Then find the value of x.      

        A
                                                                                                                                            








              B

              C
4. Find the values of K for which the distance between the points A(K,-5) and B(2,7) is 13units.

5. If the nth term of an AP is (2n+1), find the sum of first n terms of the AP.
6. The probability that it will rain today is 0.84. what is the probability that it will not rain today.

7. Find a quadratic equation whose roots are 5 and -2.

8. Evaluate: ( cosec2 A-1)tan2A.
9. Find the area of the shaded region in Fig. , if ABCD is a square of side 14 cm and APD and  BPC are semicircles.
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10.   Find the value of K if the equation x2 -4x + k = 0 has coincident roots.
SECTION – B

11. In fig, PA and PB are the tangent segments to a circle with centre o. show that the points A,O B, P are con-cyclic ? 


12. If the points A(-2,-1) B(1,0) C(p,3) and D(1,q) forms a 




                                                         
parallelogram ABCD, find the values of p and q.
13. Show that the equation 2x2 – 6x + 3 = 0 has real roots. also find these roots.

14. Find the sum of first 100 even natural numbers which are divisible by 5.

15. If the perimeter of a semicircular protractor is 36cm, find its diameter.
16. Find the third vertex of a triangle , if its two vertices are (-1,4) and (5,2) and mid- point of one side is (0,3).
17. A paper is in the form of a rectangle ABCD in which AB=18cm and BC=14cm. A semicircular portion with BC as diameter is cutoff. Find the area of the remaining paper.

18. Tickets numbered 2,3,4,5…….100 are placed in a box and mixed thoroughly. One ticket is drawn at random from the box. Find the probability that the number on the ticket is:

(i). a number less than 16
(ii) a perfect square number
(iii) a prime no less than 40
SECTION-C

19. Three solid metallic spheres of radii 3cm, 4cm and 5cm respectively, are melted to form a single solid sphere. Find the diameter of the single solid sphere.

20. The sum of first 8 terms of an AP is 100 and the sum of its first 19 terms is 551. Find the AP.
21. Solve:        1
=  1   +
1    +
1          x
≠0,x≠-(a+b)





          a+b+x
    a
b
x

22. Draw a circle of radius 4.2cm. Draw a pair of tangents to this circle inclined to each other at an angle of 450.

23. Prove that the parallelogram circumscribed a circle is a rhombus.
24. The centre of a circle is (p+2,p-5). Find the value of p, given that the circle passes through the points(2,-2) and (8,-2).

25. Find the value of p for which the points (-5,1) (1,p) and (4,-2) are collinear.

26. A chord of a circle of radius 14cm makes a right angle at the centre .find the areas of the minor and the major segments of the circle.
27.  A bag contains 5 white balls, 7 red balls, 4 black balls and 2 blue balls. One ball is drawn at random   from the bag. What is the probability that the ball drawn is:




(i)              White or blue

(ii)              Red or black

(iii) Not white

28. If the sum of first p terms of an AP is the same as the sum of its first q terms (where p≠q) then show that the sum of its first (p+q) terms is zero.

SECTION-D

29.  A motor boat, whose speed is 9km/h in still water, goes 12km downstream and come back in a total time of 3hrs. find the speed of the stream.








30. A solid is composed of a cylinder with hemispherical ends. If the whole length of the solid is 104cm and radius of each of its hemispherical ends is 7cm, find the cost of polishing its surface at the rate of Rs 10 per dm2.
31. The angle of elevation of the top of a tower from a point on the same level as the foot of the tower is 300. On advancing 150m towards the foot of the tower, the angle of elevation becomes 600. Show that the height of the tower is129.9m.(use √3 = 1.732)
32. ABC is a right triangle , right angled at B. A circle is inscribed in it. The length of the two sides containing the right angle are 6cm and 8cm. find the radius of the in-circle.

33. Solve:  5(x+1)  +  5(2-x)   =53  +  1

34. If D(3,-2) , E(-3,1) and F(4,-3) be the midpoints of the sides BC, CA, and AB respectively of a triangle ABC. Then , find the co-ordinates of the vertices A,B and C.
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